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Linearized knot diagam
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5,10 >6—->211-4—>1—>9—>7—>3— 8 —> C2,C7,C11
A knot diagrarrﬂ ¢ €10

o

fJ

Cyq C1 Cg Cg C3 Cg
Ideals for irreducible component#ﬂ)f Xpar

= w®+u? 4+ +b+1, —u*® =20+t a—2, T+ 20"+ du 1)
Iy = (b+1, —u® —u?+a—3u, u* +u® +3u? +2u+1)

* 2 irreducible components of dim¢ = 0, with total 51 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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I.
It = (uB+u*?+-.-+b+1, —u*®—2u®+...+a—2, u*"+2u?®+.. . +4u+1)

(i) Arc colorings

u? 4+ 4du” + 3u® — 2ud + u)

a1 =\ +5u” + Tu® +2u® +u
—u
ag = \ud +u
w? +1
a7 = \ —yt — 242
u?® 4+ 2u* 4 4 3u+ 3
as = A C Sk BRI |
w® +2ud —u
ag = \u® +3ud+u
ud +2ud —u
ag = \u®+3u+u
(ii) Obstruction class = —1
(iii) Cusp Shapes = u%0 +2u*® +... —Tu —9



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cy uT—5utt o —8u 1
C2 utT 210 - —6u 1
c3, C7 T w4+ 40u+ 16
Cs, Ce, C9 u47+2u46+...+4u+1
C10
cs, C11 ut” —8u* + - +616u — 49




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,C4 =21y 6y —1
C2 Yyt 4+ 15y%0 4. — 262y — 1
3, Cr Yyt 27y + ... — 3264y — 256
C5,C6, C9 y47+52y46+“.+12y71
C10
cs, C11 y*T 4+ 32y%C + ...+ 287140y — 2401




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + v=1CS)

Cusp shape

u = —0.604283 4 0.5929831
a= 147187 —1.869341
b= 1.126700 + 0.6852291

4.37990 — 10.317401

—1.65034 + 8.685101

u = —0.604283 — 0.5929831
1.47187 + 1.869341
1.126700 — 0.6852291

4.37990 4 10.317401

—1.65034 — 8.685101

0.232115 + 0.7980271
2.24071 + 0.382221
0.974632 — 0.559034.1

—1.04927 + 4.949751

—5.93011 — 7.213711

0.232115 — 0.7980271
2.24071 — 0.382221
0.974632 + 0.5590341

—1.04927 — 4.949751

—5.93011 4 7.213711

—0.610300 + 0.5539651
—0.902531 — 0.0463251
0.490595 — 0.9185251

6.31726 — 4.428791

1.23708 + 4.265561

—0.610300 — 0.5539651
= —0.902531 + 0.0463251
0.490595 + 0.9185251

6.31726 + 4.428791

1.23708 — 4.265561

0.564268 + 0.5329001
—0.60777 — 2.139821
—0.886230 4 0.5717451

1.15387 + 4.210751

—2.42283 — 6.466201

0.564268 — 0.5329007
—0.60777 + 2.139821
—0.886230 — 0.5717451

1.15387 — 4.210751

—2.42283 4 6.466201

0.368403 + 0.6777431
0.723270 + 1.0438901
0.725690 + 0.4544371

—0.121886 + 0.686906.1

—2.62923 — 1.308141

0.368403 — 0.6777431
0.723270 — 1.0438901

b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a=
b= 10.725690 — 0.4544371

—0.121886 — 0.686906.1

—2.62923 4 1.308141




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

= —0.631315 + 0.4313711
0.384246 — 0.9585421
0.543018 + 0.8997121

6.67942 4 0.218041

2.26501 + 2.209751

—0.631315 — 0.4313711
0.384246 + 0.9585421
0.543018 — 0.8997121

6.67942 — 0.218041

2.26501 — 2.209751

—0.641272 4 0.3831191
0.022026 + 0.4853291
1.094550 — 0.6969651

4.99878 + 6.098311

0.10454 — 2.746501

—0.641272 — 0.3831191
0.022026 — 0.4853291
1.094550 + 0.696965.1

4.99878 — 6.098311

0.10454 + 2.746501

—0.536843 4 0.4944691
—0.97848 + 1.173741
—1.286310 + 0.0373051

—0.20145 — 1.857011

—0.50975 + 4.377821

—0.536843 — 0.4944691
—0.97848 — 1.173741
—1.286310 — 0.0373051

—0.20145 + 1.857011

—0.50975 — 4.377821

0.565661 + 0.4445261
0.741523 + 0.7176291
—0.806231 — 0.5610681

1.41432 — 0.325181

—1.284718 — 0.4984891

0.565661 — 0.4445261
0.741523 — 0.7176291
—0.806231 4 0.5610681

1.41432 + 0.325181

—1.284718 4 0.4984891

—0.073145 4+ 0.5985441
—2.60222 + 1.374441
—1.034680 — 0.2593931

—2.92920 — 0.945521

—11.86909 +4- 0.585831

>~ Q@ €| Q@ €|l & €| & &8 Q& 8|l & 8|l & 8|l & 8|l & 8| o g

—0.073145 — 0.5985441
= —2.60222 — 1.374441
= —1.034680 + 0.2593931

—2.92920 + 0.945521

—11.86909 — 0.585831




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= 0.284667 + 0.4872921
0.588067 + 0.2030861
0.141384 + 0.2207811

—0.038903 4+ 1.1065301

—0.72417 — 6.075161

0.284667 — 0.4872921
= 0.588067 — 0.2030861
0.141384 — 0.2207811

—0.038903 — 1.1065301

—0.72417 4+ 6.075161

= —0.15656 + 1.431021

0.964258 — 0.1362281 | —0.77593 + 3.284507 0
= 1.042580 — 0.7198521
= —0.15656 — 1.431021
= 0.964258 4+ 0.1362281 | —0.77593 — 3.284507 0

1.042580 + 0.7198521

0.534809 + 0.0729521
0.267834 + 0.6347331
0.841064 — 0.5863791

1.73762 + 2.332851

1.63431 — 3.889197

0.534809 — 0.0729521
0.267834 — 0.6347331
0.841064 + 0.5863791

1.73762 — 2.332851

1.63431 + 3.889191

—0.17342 + 1.469581
0.892690 — 0.1590441
0.614156 + 0.8854121

0.53093 — 2.628201

—0.17342 — 1.469581
0.892690 + 0.1590441
0.614156 — 0.8854121

0.53093 + 2.628201

0.14450 + 1.504741
0.086605 + 0.1282021
—0.704621 — 0.5927961

—4.99092 + 2.124971

>~ Q@ €| Q@ €|l & €| & &8 Q& 8|l & 8|l & 8|l & 8|l & 8| & &g

0.14450 — 1.504741
= 0.086605 — 0.1282021
= —0.704621 + 0.5927961

—4.99092 — 2.124971




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

= —0.14983 + 1.528971
= —2.18209 + 0.882571
—1.313780 + 0.0946911

—6.93429 — 4.282711

—0.14983 — 1.528971
= —2.18209 — 0.882571
—1.313780 — 0.0946911

—6.93429 4 4.282711

0.04949 + 1.540791
= 0.359833 + 0.4203021
0.022840 + 0.5363461

—6.95405 + 2.137331

0.04949 — 1.540791
= 0.359833 — 0.4203021
0.022840 — 0.536346.1

—6.95405 — 2.137331

0.16493 + 1.537611
= —1.47288 — 1.402031
—0.945052 + 0.5891571

—5.72542 4 6.831191

0.16493 — 1.537611
—1.47288 4 1.402031
—0.945052 — 0.5891571

—5.72542 — 6.831191

—0.18579 + 1.541401
—0.364549 — 0.7277401
0.443402 — 0.9378491

—0.62096 — 7.318501

—0.18579 — 1.541401
—0.364549 + 0.7277401
0.443402 + 0.9378491

—0.62096 + 7.318501

—0.01255 + 1.559081
—2.70333 4 0.611651
—1.133330 — 0.3347961

—10.25720 — 1.207231

> Q@ €| & €|l & €| & €| Q& &> & 8| & 8|l & 8|l & 8| & g

—0.01255 — 1.559081
= —2.70333 — 0.611651
= —1.133330 + 0.3347961

—10.25720 4 1.207231




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

u = —0.18591 + 1.559451
a= 2.26208 — 1.080761
b= 1.152470 + 0.6736281

—2.78197 — 13.212301

u = —0.18591 — 1.559451
a= 2.26208 + 1.080761
b= 1.152470 — 0.6736281

—2.78197 4 13.212301

u = 0.10845 + 1.580731
a= 1.54084 + 0.828421
b= 0.782367 + 0.3055371

—7.73076 + 2.450521

u = 0.10845 — 1.580731
a = 1.54084 — 0.82842]
b= 0.782367 — 0.3055371

—7.73076 — 2.450521

u= 0.04923 + 1.602961
a= 2.55612 —0.073511
b= 1.041330 — 0.5008791

—9.19770 + 5.900871

u= 0.04923 — 1.602961
a= 2.55612+0.073511
b= 1.041330 4 0.5008791

—9.19770 — 5.900871

u = —0.210582
a= 242377
b= —0.853085

—1.24674

—7.85810




IL I =(+1, —u® —uv?’+a—3u, u* +u®>+3u? +2u+1)

(i) Arc colorings

[

ag =
u?+1

wWHur+2u+1

ud + u? +3u+1

a7 =

ag =

u +1 )
u +1

as = \w®+u?+2u+1

(ii) Obstruction class =1

(iii) Cusp Shapes = 3u? + 3u® + 10u — 4
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1 (u—1)*
4
C2,Cq (u =+ 1)
C3, Ct u4
Cs5,Ce ut 4w+ 3u 4+ 2u+1
Cs ur+ud+u?+1
Cg, C10 P+ 3 —2u+1
c11 -+ u?+1
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C4 (y_ 1)4
C3,Cr7 y4
Cs, Cg, Cg y4+5y3+7y2+2y+1
C10
cs, C11 v Y+ 3+ 2y + 1

12



(vi) Complex Volumes and Cusp Shapes

Solutions to I3

V=1(vol + v=1CS)

Cusp shape

u = —0.395123 4 0.5068441
a = —1.04332 + 1.227191
b = —1.00000

—1.43393 — 1.415101

—7.52507 4 4.188401

u = —0.395123 — 0.5068441
a = —1.04332 — 1.227191
b = —1.00000

—1.43393 + 1.415101

—7.52507 — 4.188401

u = —0.10488 4 1.552491
a = —1.95668 + 0.641201
b = —1.00000

—8.43568 — 3.163961

—9.97493 + 3.476091

uw = —0.10488 — 1.55249]
a = —1.95668 — 0.641201
b = —1.00000

—8.43568 + 3.163961

—9.97493 — 3.476091

13



ITI. u-Polynomials

Crossings u-Polynomials at each crossing

“ (u— D)W —5u® 4+ —8u+1)
C2 (u+ D)MW 4210 4 - — 6u + 1)

cs, Cr ut (™ 4w 4 - -+ 40u + 16)
ca (u+ D)MW —5u* 4+ —8u+1)

s, Cg (u* +ud +3u + 2u + 1) (u*” + 20 + - 4 4u+ 1)
Cs (ut + ud + u? + 1) (u?” — 8u® 4 - - + 616u — 49)

€9, C10 (u —u® 4+ 3u? — 2u+ 1) (u” +2u* + -+ 4u+1)
c11 (u* —u? +u? 4 1) (u* — 8u® + - + 616u — 49)

14



IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1 ¢ (=DM —21y* +-- =6y — 1)
“ (v = DY + 155" + - = 262y - 1)
cs, cr vy 27y - — 3264y — 256)
0yt 5y £ Ty 2y + (1T 452y - 12y - 1)
C10
cs, C11 (y* + % + 3y + 2y + 1) (v + 32" + - - - 4 287140y — 2401)
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